Parts

Catalog

CABC

Coffe Wagon with Articulated Dumpping System

>> BALDAN






>> BALDAN Parts Catalog

" Indice

CABC ...ttt sttt v s s sttt s s s st e s ettt st s s st et et bttt b s s s e s an et ettt s e 4
COMPIBTLE BUCKET..........ocveeeeereretereeeteeeteevetesessesevesessatesessasessasessssasessssesessasessasasesssessasesessasens 5
TADIE COMPIETE BUCKEL .........oveeeeveeeeeeeeteesvetereteete et svese s ess e sessasessssesenasesssesesssens 6
COMPIELE WREEI SAIGSt ...t ee et ste s sv st ss et ss s s s e s s sessasens 7
HYAPQUIIC CYINAE ...ttt e e e st ess e r e e s e ess s ese s sessaseseanas 7
SEICKEI'S wvuvevveieieteirrseststsieesssts s ts s ts e sttt st s s s ss st st et e se s s s st et et e ssss s anasststetesassasassssessssssnsns 8

CABC04220A (Reviewed: 08/2020) EN



Parts Catalog

>> BALDAN

° CABC E Code

Product description

All

*115091010145-2
*2 15232012336-4
*3 16020055749-5
4 15498010318-0
5 15332010028-0
8 15300010014-1
9 16020310746-6
10 | 6020010406-7
11 16020010412-1
12 | 5432010244-0
13 1 6020310591-9
14 16020310183-2
15 | 6020130108-7
16 | 6020130100-1
17 | 6020010453-9
18 | 5024010404-8
19 | 6020050116-3
20 | 5372011600-2
21 |5372011601-0
22 | 6020390301-7
23 | 5432010025-1
24 15080010151-1
25 16020370264-0
26 | 5332010018-2
27 | 5024010327-0
28 16020310857-8
29 16020050118-0
30 | 6020350430-9
31 16020310400-9
32 16020050350-6
33 15404011042-1

Complete Bucket
Complete Wheel Shaft

Hydraulic Cylinder "0.D" @2" X #4" X 287mm(Course) X 545mm(Closed)

Complete Wheel

Complete Hitch Shackle

Fixation Hook Of Chain

Hexagonal Nut 3/8" 16F Unc Gr5 Ch.9/16" Height 8,50mm
Pressure Washer 3/8" Media Industry

Pressure Washer 5/8" Media Industry

Lock Pin @31,5 X 110mm Without Grease Fitting
Round Head Pin 830,53 X 98mm

Hexagonal Head Bolt 5/8" X 1" 11F Unc1A Gr2 Rt
Grease Fitting 1/8"

Grease Fitting 1/4"

Smooth Washer M33 #34,00 X 360,00 X 5,00mm (Din 125A)
Smooth Washer @42 X 368 X 12,50mm

Cotterpin 1/4" X 2"

Hose @3/8" C/ 1TRF e 1TCG Sae 100R2At

Hose @3/8” C/ TTRF e 1TCG Sae 100R2At

Lock 35,75 X 50mm

Pin @1.1/4" X 215mm

Bushing Of Drawbar

Complete Support Of Lifting (Hydraulic Field Jack)
Spare Hitch Shackle

Smooth Washer @45 X 87 X 12,00mm

Nut 1.1/2" 12F Unf Gr2 Ch.2" Height 30,00mm
Cotterpin 1/4" X 2.1/2"

Wheel 0f 5,0”X 16”

Tyre 600 X 16 X 6 Ply

Inner Tube 600X16

Main Frame Lower

- A A A 4O 48 aa a e a s a N s Wom AN NNNNRRNS A a3

*Item 1 - See page 5
*Item 2 e 3 - See page 7

CABC04220A “



>> BALDAN Parts Catalog

« Complete Bucket

CABC04220A




Parts Catalog

« Table Complete Bucket

Code

Item

Product description

All

5044010409-3
5538010721-9
5538010720-0
5538010723-5
5538010722-7
5538010731-6
5572017985-6
5572017986-4
5572017904-0
5572017903-1
5192010055-8
5558010280-7
6020250282-5
5456010127-1
6020010410-5
6020311057-2
5024010068-9
6020310754-7
6020310746-6
5432120028-4
60200501147
5080011983-6
6020317427-9
6020311061-0
5232120129-6
60200104067

O 00 N O L1 BW N =

N NN NNNMNDN 2 3 &3 2 a3 03— .
A L B W N = © O 0 NV UV & W N = O

Complete Bucket Base

Complete Upper Front Cover

Complete Lower Front Cover

Complete Upper Lateral Cover

Complete Lower Lateral Cover

Rear Cover

Support Beam Rear Right
Support Beam Rear Left

Support Beam Of Left Front Laterals

Support Beam Of Right Front Laterals

Limeter Chain Of Cover

Lock Of Complete Bucket

Helical Spring @14,8 X #18,8 X 130mm

Locking Nut Of Laterals

Pressure Washer 1/2" Media Industry

Hexagonal Head Bolt 1/2" X 3" 12F W Gr5 Rp
Smooth Washer @13,3 X #35,5 X 3,00mm
Hexagonal Nut 1/2" 12F W Gr5 Ch.7/8" Height 12,00mm
Hexagonal Nut 3/8" 16F Unc Gr5 Ch.9/16" Height 8,50mm
French Head Pin #3/4" X 86mm

Cotterpin 1/4" X 1.1/2"

Articulation Bushing

Hexagonal Head Bolt 1/2" X 1.3/4" 12F W Gr5 Rt
Hexagonal Head Bolt 1/2" X 3.1/2" 12F W Gr5 Rp
Hexagonal Shaft Of Spring With Thread 3/8”
Pressure Washer 3/8" Media Industry

N N N 2 @3 23 o o NN = = .

G
o N

-
S © o

N NN N NN NN

>> BALDAN

CABC04220A n



>> BALDAN Parts Catalog

« Complete Wheel Shaft

Item
Al

Code Product description

5232012337-2 | Wheel Shaft

5204010255-8 | Complete Wheel Hub

6020311020-3 | Hexagonal Head Bolt 5/16" X 1/2" 18F Unc1A Gr2 Rt
6020310128-0 | Bolt (Thread Machined) 1/4" X 1/2" 20F Unc1A Gr5 Rt
5456010124-7 | Castle Nut @48,7 - 14 Fpp -W (Special)

6020310760-1 | Hexagonal Nut 5/8" 11F Unc Gr5 Ch.1.1/16" Height 15,00mm
6020010412-1 | Pressure Washer 5/8" Media Industry

5558020002-7 | Lock(Small)

9 |5096020006-0 | Wheel Hub Cap

10 | 6020310180-8 | Hexagonal Head Bolt 5/8" X 2" 11F Unc1A Gr5 Rp

11 |6020350056-7 | Bearing 32210

12 | 6020311078-5 | Hexagonal Head Bolt 5/8" X 2.3/4" 18F Unf1A Gr5 Rp

13 |5204010015-6 | Wheel Hub (Spare)

4 14 1 6020310096-8 | Allen Bolt S/C5/16" X 1/2" 18F Unc1A C112.9 Rt (Phosphated)
15 | 6020310807-1 | Conic Hexagonal Nut Of Wheel 5/8" 18F Unf Gr5 Ch.1.1/16" Height 19,00mm
16 | 6020310805-5 | Hexagonal Nut 5/8" 18F Unf Gr5 Ch.1.1/16" Height 13,50mm
17 16020350242-0 | Retainer 63,50 X @110,00 X 18,00mm

18 | 6020350074-5 | Bearing 32212

] 19 16020130108-7 | Grease Fitting 1/8"

0NN WN =
N ©NNO®O®NARARNN=

—
~ N3

—_
NN

N NN

Item
Al

Code Product description

Kit Of Seal LENIORS
Gasket Std 3120-3375 (@3.3/8" x @ 4" x 5/16")
Guide Ring W2-4000-500 (#4" x 1/2")
0°Ring 2-342 (#91,44 x 35,33mm)
J007389 Parback 8-342
Guide Ring W2-2250-500 (#2.1/4" x 1/2")
Gasket B 2500-2000-375B (@2x@2-1-2x3-8)
Cleaner D-2000
6020190207-2 | Repair Kit Leniors J007389

Kit Of Seal
LENIORS

N UV B W =

[ I NS

For replacement parts, please check the cylin-
der liner - Baldan code, manufacturer’s code
and name and date of manufacture.

CABC04220A



Parts Catalog >> BALDAN

o Stickers

Item

Code Product description

6020079015-7 | Sticker CABC-4500 Baldan (120 x 1300mm)
6020079017-3 | Sticker CABC-4500 (120 x 600mm)
6020079016-5 | Sticker Baldan (120 x 600m)
5206010007-1 | Sticker Baldan Large (100 x 590mm)
6020071007-2 | Sticker Warning (Cabc-4500)

L B R S R O

CABC 4500 > > BALDAN = CABC4500 > > BALDAN

Item 1 Item 2 ltens3 e4

CABC04220A n






>> BALDAN

Avenida Baldan, 1500
Nova Matao
15.993-900

Matao/SP - Brasil
sac@baldan.com.br
export@baldan.com.br

+5516 3221 6500
baldan.com.br



	Stickers
	Hydraulic Cylinder
	Complete Wheel Shaft
	Table Complete Bucket
	Complete Bucket
	CABC

